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QUESTION 1

What does the HTTP setting Disabled Entirely do? (Choose 1)

A. Enables access to HTTP, but not HTTPs connections.

B. Denies access to all connections using the HTTP and HTTPS protocols.

C. Denies access to all connections using the HTTP protocol and to the web administration interface.

D. Denies access to all connections using the HTTP protocol, but allows access to the web administration interface.

Correct Answer: D

QUESTION 2

What types of data stores are supported for virtualization on an Isilon cluster? (Choose 2)
A. VMFS

B.iSCSI

C.NFS

D. SMB

Correct Answer: BC

QUESTION 3

Which of the following is true about files and viruses? (Choose 1) A. All files types cause an equal risk
B. Only executable files are a risk

C. One script files are a risk

D. Only virtualization files are at risk

Correct Answer: B

QUESTION 4

For what reasons would you increase the default Ethernet frame MTU on an Isilon cluster? (Choose 3.)
A. To match the frame size of the client system.

B. To improve overall performance.

C. To increase the LUN I/O performance.
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D. There is no good reason to change the default Ethernet frame size. It is automatically optimized for performance.
E. To provide easier trace captures.

Correct Answer: ABC

QUESTION 5

Which of the following is true about SmartConnect Basic? (Choose 1)

A. You can define one subnet per cluster and one pool per subnet.

B. You can define one subnet per cluster and multiple pools per subnet.

C. You can define multiple subnets per cluster and one pool per subnet.

D. You can define multiple subnets per cluster and multiple pools per subnet.

Correct Answer: C
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